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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer all questions from  1 to 9.

Each carries one score.

1. Which among the following is a

'human cause' of business risk?

a) Earthquake

b) Mismanagement

c) Change in demand

d) Competition in market

2. 'One man one vote' is the

principle of ......... form of

business organization.

a) joint stock company

b) partnership

c) co-op-societies

d) Hindu joint family business

3. Which among the following is an

example of departmental

undertaking?

a) LIC

b) RBI

c) Doordarshana

d) KSRTC

4. Give one example for

'discretionary responsibility' of

business.

1 oOf¤ 9 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. fLRu fÐ]q]¨OÐvp]¤ m]y]jôV

jxVa¾]jOtt "oLjOx]W WLqe'

°t]¤RÕaOÐSffV?

a) nPo] WOsO¨U

b) oLSj^Ro£V RWaOWLq|òf

c) c]oL£]sOtt v|f|LyU

d) v]ke]p]Rs ofVyqU

2. "KqL¥¨V KqO SvLŸV' IÐfV JfV

m]y]jôV qPk¾]R£ Aa]òLj

ff~oLeV.

a) S^Lp£V SðL¨V WÒj]

b) kËLt]¾ m]y]jôV

c) yzWqe òLkjU

d) z]ÎO WPŸOWOaOUm m]y]jôVV

3. fLRufÐ]q]¨OÐvp]¤ "vWOÕOfs

yUqn¾]jV' DhLzqeSofV?

a) I¤.RI.y].

b) B¡.m].RI.

c) hP¡h¡w¢

d) RW.IyV.B¡.a].y].

4. m]y]jô]R£ 'v]Sv\jLfVoW

D¾qvLh]¾'¾]jV KqO DhLzqeU

krpOW.

(9 × 1 = 9) (9 × 1 = 9)
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5. Complete the series as per hint
given.
a)  Equity Shares – Owned Capital
b)  Debentures – .........?..........

6. The only international
nongovernmental organization
of micro, small and medium
enterprises in India is .........
a) NABARD
b) SIDBI
c) WASME
d) UTI

7. Suggest two products which are
suitable for dealing through
vending machines.

8. Which among the following is a
document relating to the
payment in international
business?
a) Shipping bill
b) Certificate of origin
c) Letter of credit
d) Export invoice

9. Find the odd one out :
a) Trade credit
b) Certificate of deposit
c) Bank overdraft
d) Plaughing back of profits

5. yP\j NkWLqU Sèe]

kP¡¾}Wq]¨OW.

a) DaoòfL KLzq]W¥ –

DaoòfL oPsijU

b) WakNf°¥ – ...............

6. yPƒVo, R\rOW]a, Ca¾qU

yUqn°¥¨O Svº], AÍLqLxVNa

fs¾]¤ CÍ|p]¤ òLk]\ÿ]ŸOtt

y¡¨L¡ Cfq yUZaj .............

BeV.

a) jmL¡cV

b) y]cVm]

c) vLyVRo

d) pO.a].RI

7. Rv¢c]°V Rox}jOWt]sPRa CakLaV

ja¾L¢ Wu]pOÐ qºV D¤kÐ°¥

krpOW.

8. fLRu fÐ]q]¨OÐvp]¤

AÍ¡Shw}p m]y]jô]¤,

keo]akLaOoLp] mjViRÕŸV

DkSpLY]¨OÐ NkoLeU JfV?

a) x]Õ]°V m]¤

b) Ry¡Ÿ]l]¨ãV KLlV Kr]^]¢

c) Rsã¡ KLlV NWc]ãV

d) IWVyVSkL¡ŸV C¢SvLp]yV

9. Svr]ŸfV WRº¾OW.

a) v|LkLq WaU

b) y¡Ÿ]l]¨ãV KLlV c]SÕLy]ãV

c) mLËV KLv¡NcLlVãV

d) SkæLv]°V mL¨V KLlV SNkLl]ãV
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Answer any six questions from

10 to 16. Each carries two scores.

10. What is franchising?

11. Who are cheap jacks?

12. Distinguish between ADR and

GDR.

13. Anu and Verghese are working

in a business organization doing

the same job. Anu is paid Rs. 500

per day, while Verghese is at 750.

Is the act of management is

genuine? Why?

14. Name any two types of payment

mechanisms used in e-Business

transactions.

15. Bring out any two features of

business services.

16. What do you mean by plaughing

back of profits?

10  oOf¤ 16  vRqpOtt S\Lh|°t]¤

JRfË]sOU 6 I¹¾]jV D¾qRouOfOW.

2 yVSWL¡ v}fU.

10. NlLRRµy]°V IÐLRsÍV?

11. "\}ÕV ^LWVyV' BqLeV?

12. I.c].B¡, ^].c].B¡ IÐ]v

fÚ]¤ Sv¡f]q]¨OW.

13. AjOvOU v¡«}yOU KqO m]y]jôV

òLkj¾]¤ KSq S^Ls]

R\áOÐvqLeV. AjOv]jV h]vyvOU

500 qPk v}fvOU v¡«}y]jV 750

qPk v}fvOU SvfjU j¤WOÐO.

oLSj^VRo£]R£ CT NkvQ¾]

wq]pLSeL? IÍV RWLºV?

14. CsWVSNaLe]WV m]y]jôV

CakLaOWt]¤ DkSpLY]¨OÐ

JRfË]sOU qºV keo]akLaV q}f]W¥

krpOW.

15. m]y]jôV Syvj°tORa

JRfË]sOU qºV NkSf|WfW¥

krpOW.

16. "SkæLv]°V mL¨V KLlV SNkLl]ãV'

IÐL¤ IÍLeV?

(6 × 2 = 12) (6 × 2 = 12)
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Answer any four questions from

17 to 21. Each carries three

scores.

17. What do you mean by business

risk? What is the reward of

businessman for taking this

risk?

18. Explain any three features of a

statutory corporation.

19. Write any three reasons for

international business.

20. Write a short note on 'District

Industrial Centers' (DIC's).

21. Distinguish between public

warehouses and bonded

warehouses.

Answer any three questions from

22 to 25. Each carries four scores.

22. Write short notes on the

following :

a) H.U.F. (Hindu Undivided

Family Business)

b) Partnership deed

17  oOf¤ 21  vRqpOtt S\Lh|°t]¤

JRfË]sOU 4 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

17. m]y]jôV r]yV¨V IÐL¤ IÍV?

r]yV̈ V JRãaO¨OÐf]jV m]y]jôO

WLqjV sn]¨OÐ Nkf]lsU IÍV?

18. RkLfO SWL¡ÕSrxR£ JRfË]sOU

3 NkSf|WfW¥ v]vq]¨OW.

19. AÍ¡Shw}p v|LkLq¾]jOtt

JRfË]sOU oPÐV WLqe°¥

IuOfOW.

20. "^]sæL v|vyLp SWNÎ'°RtÕã] KqO

WOr]ÕV fáLrL¨OW.

21. kmæ]¨V Sv¡zTyOW¥, SmLºcV

Sv¡zTyOW¥ IÐ]v

Sv¡f]q]¨OW.

22  oOf¤ 25  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

22. fLRu fÐ]q]¨OÐvRp WOr]\ÿ V

sZOWOr]ÕV fáLrL¨OW.

a) I\ÿV.pO.IlV. (z]ÎO

WPŸOWOaOUm m]y]jôV)

b) kL¡ŸVe¡x]ÕV c}cV

(4 × 3 = 12) (4 × 3 = 12)

(3 × 4 = 12) (3 × 4 = 12)
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23. Who is a promotor? Describe any

two of his functions in relation

with the formation of a company.

24. Write any four differences

between a share and a

debenture.

25. Illustrate any four major

problems faced by small business

in India.

Match the following :

23. NkSoLŸ¡ IÐL¤ BqLeV? KqO

WÒj]pORa qPk}WqevOoLp]

mjViRÕŸOtt ASÇz¾]R£

JRfË]sOU qºV  i¡Ú°¥

v]wh}Wq]¨OW.

24. KLzq]pOU WakNfvOU fÚ]sOtt

jLsV v|f|Ly°¥ IuOfOW.

25. CÍ|p]Rs R\rOW]a yUqUn°¥

Sjq]aOÐ JRfË]sOU 4 NkiLj

NkwVj°¥ v]wh}Wq]¨OW.

S\qOUka] S\¡¨OW.

26.                                                      A      B

a) Milka bakery ordered 1000 packets of bread from
Vimala bread company through online B2G
o]¤¨ Sm¨r], v]os RNmcV WÒj]p]¤ j]ÐOU 1000  kL¨ãV

RNmc]jV KL¦RRsj]sPRa KL¡c¡ j¤W]. m]aO^]

b) The manager of Milka bakery bought a mobile phone through
Flipkart B2E
o]¤¨ Sm¨r]pORa oLSj^¡ læ]ÕVWL¡Ÿ]sPRa KqO RoLRRm¤ SlL¦

vL°]. m]aOC

c) Milka bakery pays their employees salary through their
bank accounts B2B
o]¤¨ Sm¨r], AvqORa RfLu]sLt]W¥¨V mLËV A¨TºV oOXLÍ]qU

wÒtU j¤WOÐO. m]aOm]

d) Milka bakery paid their taxes through online B2C
o]¤¨ Sm¨r], AvqORa j]WOf]W¥ KL¦RRs¢ oOXLÍ]qU j¤W] m]aOy]

(4 × 1 = 4) (4 × 1 = 4)
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Answer any three questions from

27 to 30. Each carries five scores.

27. Describe the importance of

profit in business.

28. Explain the features of a 'global

enterprise'.

29. 'This document is called as the

charter or constitution of a Joint

Stock Company'.

a) Identify the document.

b) Explain its contents.

30. Write how the business impart

their responsibility to the

following interest groups. (one

each)

a) Customers

b) Government

c) Suppliers

d) General public

e) Owners

27  oOf¤ 30  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

5 yVSWL¡ v}fU.

27. m]y]jô]¤ sLn¾]jOtt NkLiLj|U

v]wh}Wq]¨OW.

28. KqO BSYLt yUqUn¾]R£

NkSf|WfW¥ v]vq]¨OW.

29. CT NkoLeR¾ KqO S^Lp£V SðL¨V

WÒj]pORa \L¡Ÿ¡, nqeZaj

IRÐsæLU Ar]pRÕaOÐO.

a) NkoLeU f]q]\ÿr]pOW

b) Cf]R£ Dtta¨U

v]wh}Wq]¨OW.

30. fLRukrpOÐ f¤kqWƒ]WStLaV

I°RjpLeV, m]y]jôV

D¾qvLh]¾U j]¡vÿz]¨OÐfV

IÐV IuOfOW. (KLSqLÐV v}fU)

a) CakLaOWL¡

b) y¡¨L¡

c) v]fqe¨L¡

d) RkLfO^j°¥

e) Daoò¡

(3 × 5 = 15) (3 × 5 = 15)
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(2 × 8 = 16) (2 × 8 = 16)

Answer any two questions from

31 to 33. Each carries eight scores.

31. Jisha and Lekha jointly start a
business on the basis of an

agreement. They contributed

capital and sharing risks,
engaged in business jointly and

severally.

a) Identify the form of business,
organization mentioned

above.

b) Describe any four merits and
three demerits of it.

32. 'Super market is a large retailing

business unit dealing consumer

goods'.
a) Describe its features.

b) List any four of its merits and

demerits.

33. Explain the following principles

of Insurance.

a) Cause proxima
b) Utmost good faith

c) Mitigation of loss

d) Contribution

31  oOf¤ 33  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

8 yVSWL¡ v}fU.

31. ^]xpOU SsXpOU yUpOWVfoLp] KqO

WqLr]R£ Aa]òLj¾]¤ KqO

yUqUnU BqUn]¨OÐO. Av¡

oPsijU RWLºOvq]WpOU

jxVayLi|f kËV vpV¨OWpOU

R\áOÐO. WPaLRf KãpV¨OU

WPŸLpOU v|LkLq Nkv¡¾j°t]¤

kËLt]WtLWOÐO.

a) Cv]Ra yP\]Õ]\ÿ m]y]jôV

qPkU f]q]\ÿr]pOW.

b) Cf]R£ JRfË]sOU 4 YOe°tOU

3 ShLx°tOU v]wh}Wq]¨OW.

32. DkSnLWVfQ vyVfO¨¥ RRWWLq|U

R\áOÐ vs]p R\rOW]a m]y]jôV

òLkjoLeV yPÕ¡oL¡¨ãV.

a) CvpORa NkSf|WfW¥

v]vq]¨OW.

b) CvpORa JRfË]sOU 4
YOe°tOU 4 ShLx°tOU

IuOfOW.

33. fLRufÐ]q]¨OÐ C¢xOr¢yV

ff~°¥ v]wh}Wq]¨OW.

a) yo}kò WLqeU

b) D¾o v]w~LyU

c) jxVa sZPWqeU

d) v}fLUwU




